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For each guestion from 1 o 28, Towr options are given. One of them i3 the comrect answer.
Make your cheice {1, 2, 3 or 4). Shade your answer onthe Qpticall Answer Sheet (QAS).
{58 marks)

1 Study the classification table below carefully.

Which of the following statemeni(s) isfare correct?

A The erganisms in Graup X and Group Y are non-flowering plants.
B The organisms in Group X and Groug Y are repraduced by spores.,
€ The organisms in Graup X contaln ciforophyll but not those in Group Y.
3] The organisms in Group Y are micro-organisms but not those in Group X
{1} Canly

(2} AandBonly
{3} CandDonly
(4} A, BandDonly

(Go on o the next page)

For mare papers, Go to: SeriousfAboutEchool comdOnlineExams



The diagram below shows the human digestive system.

Based an the diagram and the classification charﬁ ahave, wmﬂh ane of the followdng
shows the correct heading for group Y7

(1}  Digestion is completed.

{2} Digestive juices are praducad.

{3} Absomtion of water takes place.

(4) Absorption of digested food takes place.

{Go on to the next page}
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4

Marcus cut twa rings of different thickness, part A and part B, from a stem and

removed them from a plant as shown below.

Fart B removed
T

He recorded his ebservation of leaves X and Y after one week in the table below.

it furmned brown and wilted.

Y f remained green and healthy

Which one of the following options comectly shows the parts that were remaved?

. Rt = A s 5 A ?’“}‘?
Foad-carr d water-carryi _
(1} o9 @arrymgtigjswa ereamng Water-carrying tubes only
(2) Foad-carrying tubes only Food-carying and water-carrying
tubes
(3) Water-canying tubes only Food-carrying and water-carrying
fbes
Food-cairying and water-camying .
{4) 4 gtubes g Food-carrying tubes only

{Go on fo the next page}
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Mary wanted 10 conduct an experiment to find out if the cofeur of petals has an effect
on the number of pallinators affracted fo the flower. She has the following flowers as

shown in the table below.

:;;:;f@rmz%%% _ 1
A I. red anther within the flower '\;
B white anther within the flower ;
Cc yellow farge pelals
(3 whﬁe | swesk sceﬂf
E ._ pink no scent
F wehite smalt petals

Which of the flowers should Mary campare to conduct her experiment?

{1} - AandBonly
(2} B and & only
{3} B DandFanly
(4) C,EandF only

(Go on te the next page)
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inv which parts of the repraductive systems are the repraductive celis praduced?

1y
(2)
Q)
(4)

& and X only
P and X andy
P and Y only
Qand Y anly

The diagram below shows the cress-section of a flower.

Which of the following statements are correct?

A

B:
£
D

(1)
(@)
@
(4)

Part [ will develop inta a fruit after fertilisation.

This flower is likely to be an Insect-polfinated flower.

During pollination, polten wifl be ransferred from Part A to Part B.

Before polination takes place, if Parts B and C are removed, the flower will
still be able to tum into 2 fruit.

A and C anly
B and D only

A, Band D only
8, € and D only

{Go on to the next page)
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7 A lightly sealed plastic bag containing substance ¥ is placed info a beaker
contalning substance Z. Affer § minutes, same substance Z was found inside the
plastic bag as shown belaw.

substance Z . |

substance Y
seaied
plastic

bag

Before After

Based on this cbservation, which part of a cell has a similar funt:fi?emr ag tha plasfic:
bag shown ahove? '

{1y ceilbwall

{2}  cytoplasm

(3}  chloroplast
{4}  celf membrane

{Go on to the next page)
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g The diagram helow shows how blood flows In some parts of the human bedy a
few heurs after a meall

Organ X

F-

k4

E

Bigod at & 4

Organ Y

% BloadatB

smalt
indesting

Which of the folfowing below best describes the diagram. above’?

(1}

(2)
(3)
)

Organ X

Organ Y

Blood af A camipared to blood st B

ungs

heart

. more digested food and more carbon dioxide

fungs

hieart

less digesfed food but rore carbon dioxide

heart

lungs

tess digested food and less carbon dioxide

heart

iungs

more digested food but less carbog dioxide

{Go on to the next page)
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Three children were comparing the maovement of substances in a plant fransport
system and the human circulatory systermn. -

F The human circulatory systembas the )

heart which pumps blood alf around the |
body but the plant transport system
does not have any organ te pump
substancesaround the plant.

/' The blood i the human circulatory

| system and the parts of the plant :
| franspott system hotlt Carry &ir, ,__ﬁﬂﬂ(’.i anct }
- water all sround the humanbody and |
 the plant respectively.

 Just as the blood flows from the fungsto
- the heart and then back to the lungs

- again, water from the roots is

. fransported o alf pads of the plantand
- then back to the rools again.

Whtch of the tfnree children: made the carrect statemenis?
(1y Peteranly

(2} Feterand Rick only

(3} Queenfe and Rick anly

(4) Feler, Queenig and Rick

{Go on to the next page)
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10

Jalen measwred the amount of light, oxygen and the temperature in & flald on a sunny
day. He plotied three graphs fo show the changes in the amount of light, oxygen and
temperature from Tam te 12 noom.

Amount of light {unitsy Temperature (*C):

A -
: i

,,,,}_
i
" i t
3 : 1 lt
A i I : :
! ! H ‘ ‘.
g E -0 F
B [ N ?
A E k I k '
3 ] ; \ A I "
{_, . i B TiTe T = $ Tme
7am 12 nean 7 am n
Arnaunt of oxygen (unils)
-3
F
t
b
&
i
: B
s i
t :s
' I
; l.
; f—> Time
7 am 12 noon

Based on the graphs abave, what could have caused the amount of oxygen to i increase
from 7am to 12 noon?

(1) Ali iving things produce oxygen dusing daytime.

{2} Plants do not take in exygen when the amount of light increases.

{3} Animals give olf more oxygen when the surrounding temperature increases.
{4} The rate of photasynithesis increases due to an increase in the ameount of tight.

{Go on to the next page)
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Tt A graup of students tecorded the number of organisms found in their scheal’s pond.
They drew the bar chart shown below based on the data they had collected.

Number of ciganisms

&

167 2

1 EJ

13-4 5

18- 7] /

i/ . B

4l B B e

2|—¥4 7 2 7 7

NN Y% & o
Hloating  pertiglly  submerged nelegs sixlegs marethan

submerged /} K six legs /f

Y Y

plants . animals

Which of the following statements ahout the organisms in the pond are rua?

A:  There are 26 populstions of plants.

B There are at least 6 populations of plants and animals.

C:  The number of floating and submerged plants are equal.

B} Insecls are greater in number than zny other group of animals,

{t) AandConly
2} BandDanly

3y B,CandDonly
{4y A,B CandD

{Ga on to the next page}
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The chart below shows how a human activity can have negativé effects on the
emvironiment.

A
Soif exposed {o rain ' increase in the amowunt of carbon dioxide
B . Mare hest from
. the Sun is trapped |
- . -
Soll no lenger suitsble . k2
far plants Meiting of ice araund the Poles

¥

€ i

Which of the following best reprasents A, B and C?

ﬁ) ;
@ |
(3}
(4} |

& B C
Deforastation Soil erasion Draught
Deforestation Soil erosion | Rise in ses level |
Burning fossit R L

fuels FHoading | Haze
Burning fossit : ’ S
Fuaks Haze Flooding

{Go on to the next page)
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13 Meng Zhe observed two crganisms, X and Y. Qrganism X has an air bubble altached
to its body and arganism ¥ has a breslhing tube.
/{-air bubbis hreathing tube
BBy
Qrganism X Qrganism Y
Which one of the following mast likely shows where Meng Zhe found the two
argarisms?
; el e i“.:% 2 -
(1) 1 On plants above the pand Just under the surfage of the pond
(2} Just under the surface of the pond | At the botfom of the pond
(3) | At the bottam of the pond - Just under the surface of the pond .
(4} - At the hotforn of the pond Or: plants abave the pond.
3 3
14 Which of the follawing activities do got harm the environment?

A Writing an both sides of the paper before recyciing it.

Tuening off the lights in a room when no ons is inside.

B:
C: Briving to work by car instead of taking public transport.
D..

Bringing your own recyclable bag when you go grocery shopping.

(1] AandConly
{2} B and D only
(3] A BandConly
(4) A, BandDonly

{Go on to the next page}
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1§ Azriyan set up an experiment as shown balow to compare the ﬁfe:xib%ﬁiiy of four strips
made of different materals, P, Q, R and S, respectively.

400-gram
weeight

sirip {’\—/ |

PR n e bt B o ] ;“"“""‘*--‘-'g_’-&;-"*

viooden ) _ e
block ™ plesan -

Un each strip, he placed a 400 g weight. He then measured the distance, d, between
the highest and lowast points of the strip.

The results of his investigation are shown in the table helow.

Based on the results of Azrivan’s investigation, which ma-te-riaﬁs are the maost suitable
to make parts X and ¥ of the object shown below respectively?

(1)
@)
3)
(4)

(Go on to the rext page)
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Metal bar J WMeatal har K tetal bar L Metal bar i

bar mégn et

He then braught the north pole of a bar magnet near end X and later near end Y of
each metal bar, s :

He recorded his observations in the table below.

J atiracted o atiracted

X o¥E o b oy fx T vl Ix ¥|

attracted repefied

=

fo reaction no reaction

Mo repefled 'j altracted.

He wrote the following statements afier canducting the experiment

A Metal bar K is made of 2 magnetic maferial,

B: Metat bar L can make a cormpass needie move.

G End X of metal bar K wilf repel end X of metaf har M.
B 3 Both ends of metat bar M will atfract metaf bar J.

Which of the above statements are tot carrect?
(1)  Aand Donly
{2} Band Conly

{3} B,CandDonly
{4) A BandDonly

{Go on to the next page}
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17 The pickue below shows the buming of same woed.

Wihich ona of the following cotrectly shows the convarsian of energy during the
burning of wood?

(t}  Potential energy <> light ensrgy
{2} Polential ensrgy > heat and light energy
(3)  Poteniial energy 2 kinetic ensrgy-> heat energy

{4y Heatenergy> light energy > pofential energy

(Ga on to the next page)
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The table below indicales the stale of substances P. Q and R st different

temperatures.
State of substance at the different temperatures
Substance
30°C 507G 100°C
R i liepuid liguid gas
Q tiquid o gas gas
R sofid csafid . sofid

Based on the information abave, which one of the following statements is coreci?
(1) Substance P has the highest boiling point.
{2} Substance R has the highest meliing point.

(3) Substance P has the same meffing point as substance Q.
(4} Substance & has a higher rmefting point than suhstance R.

(Go on to the next page}
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18 A metal box containing 404 om® of air was placed on an electronic weighing scale as
shown in the diagram below.

3
-~ metai bax

-

f

400 cm® of sir

aelaclronic
weighing scale

150 em® more air was pumped into the metal box through the apening.

Which one of the following correctly shows the volume of air in the metal box and the
reading on the electronic waighing scale?

(2} 400 More than 640
{3} 550 540

{4} 550 More than 640

| {Go on to the next page)
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Max carried out an experiment usxng a torch, a tennis ball and a secreen as shown
below.
SCreen

orch tennis batl

{9

He wrole down what he did below:

Steps:
. | Switchon the torch.
. | Measure the height of the fennis bail’s shadow formed on the screen.

i, | Move the tennisball 3 ém closerto the toreh,

B, 1 Measure the height of the tennis ball's shadow again.

Repeat steps (i) and (V) two more times, each time moving the tennis

V. hall 3 cmn closer to the torch.

Which ane of the following is the correct hyﬁothesis for his experiment?

(1) The size of the torch will affect the size of the shadow.

{2}  The colour of the tennis ball will affect the sharpness of the shadow.

(3)  The distance betweean the torch and the tennis ball will affect the shape of the
shadow.

(4}  The distance between the torch and the tennis ball will affect the height of the
shadow.

(Go on to the next page)
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Study the diagram helow.
P Q R S

dd

Sephie toy car

Stave

Rosie

Four children and two of their toys are séﬁarated by screens, P, Q, R, S and T. The

screens are made of different materials.

= Sophie is unable to see Kelly.
+ Both Rosie and Steve are unabie to see the robot.
= Kelly can see both the foy car and the robot clearly.

Based on the information given above, which one of the foi!owmg could be the

materials used 10 make the screens?

(1 ) Clear piastic Wood Ciear piast;c Ruhl?er Ciear glass
(2) ‘ Wooed Rubber Rubber Clear plastic Clear glass
| (3) Clear plastic Clear glass Wood Rubber Ciear glass
(4) Rubber Ciear plastic Clear glass Wood Clear plastic

{Go on to the next page)
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Jerry set up an expsriment as shown below.

|
) \'sto.pper

- container

walerat
100°C

O T
[ o

Rads P, Q, R and S are equs) in size and made of different matsrials. He placed: the
same amourt of wax on the tip of each rod and placed the rods in a container of boiling
water. Jerry measured and recorded the fime taken for all the wax on eachrod, P, Q,
R and S to melt. He plotted his resulis in a bar graph as shown below.

4

Tine taken for all
the wax o melt
{rriing

Which one of the rods is made of a material that is most suitable for making a contalner
to store ice cubes so that the ice cubes will take the fongest time to melt?

(1) RodP
{2} RodQ
{3} RodR
(4) Rod$S

{Go on to the next page}
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23 Jane poured equal volumes of waterfrom fwo beakers of water, P and Q, info anempty

caontainer.
?. \ % beaker €
beaker P _
g_ container

The final temperature of waler in the container was 45 °C.

\ /

Which of the following best represents the temperature of the water in each of the
beakers just before pouring int: the confaines?

() N (@)
Temparature | Temperaiure |
ecy b CCh o
45 :_,__i_,._,,,ﬁ_fwﬁ. ________ 45, i___.,?m“_.% ....... E“'“E _____
= a P a
(3) oy
3 A
Temperature | Temperature | [}
CCr ecy |
45 [mmmmmmnm e 45 foe o]
P Q " p.' Q [ >

{Go on to the next page}
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24 The diagram below represents the waler cycle. X and Y are processes that ocour

in: the water cycle.

Which of the following statements about the water cycle is comect?
{1} Y involves a gain of heat.
(2} X iakes place when wafer condenses.

(3}  Xliakes placs when water evaporates.
(4} Y takes place when wafer vapour evaparates,

{Go on to the next page)
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Grace sét up am efectiical circult as shown below. All electrical parfs are in good
working conditians.

Which butbs wilk remain it when bulb X fuses?

{t) Wand ‘f amy
(2) WandZonly
{3} YandZanly
(4) WY and Z only

(Go on ta the next page)
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26 A statianery holder with a magnet in. it was atfracted to a whiteboard mada of magnatic
material. Some markers were then added to the halder and the holder staried to slide
down whife stili being atfracted to the whiteboard as shown in the diagram below:

holdar . magnet ‘i
| marker
whitebaoard R——
before

Which one of the following statements explains this observation?

{1} The magnstic force of the magnet is less than the weight of the tiolder and

markers. _
(2) The magnetic force of the magnet is greater than the weight of the holder and N
' markers. o '
(3) The friction between the magnet and the whiteboard is less than the weight of the
\ holder and markers.
(4) The friction between the magnet and the whiteboard and the magnetic faree of the

magnet is less than the weight of the halder and markers.

(Go on to the next page)
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|

26

A spring was aftached to a walt and block Y was afiached to the spring and left to rest.
A magnet was then brought near block ¥ as shown in the diagram helow.

wali

f/ block Y

inital
tangth of
Before the experiment

wall
P

I . block Y

i | magneat
i :

After the experdment

Which of the fa%i'tmfng. forees are acling on block Y at the end of the experiment?

Fi%e Gravitational foree
B: Magnetic force

LI Elasiic spring force

{(t} Aand Canly
2y AandBonly
(3) BandCanly
{4y A Band®C

{Go on to the next page)
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27

A fennis player hit a ternis ball and # followed a path of movement as shown by the
dotted line shown in the diagram below.

Ennis player”

Which of the following statements belows are corract?

The tennis ball stopped moving at point &,

The tennis halt's speed increased from. point F to point G. _

The tennis ball has the greatest gravitatfonat potential energy at point F.
Gravitational force acting on the tennis ball is higher at peint F than point E.

pomr

(1} Aand G only

(2} BandCoanly
{3} B, CandDanfy
{4) AB CandD

End of Bookiet A
(Go on to Bookiet B)
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For each question from 29 to 40, write yvour answers in the spaces provided. The marks
alfocated {0 each question are indicated in the brackets. {44 marks)

28 The food chain below shows the {ood relationship amaong three organisms, X, Y and Z.

QOrganism X Qrganisn: Y | Organism £

Organism Y can be found in water that is slightly further away from the seashore. It has
only a few types of predators as it Is poifsonous.

The diagram betow shows how organisms Y and Q depend on each ather. Qrganism Q
attaches pieces of Organism Y onfo itself.

Organism Y

Qrganism Q

{a}  State whatis an organism. - f1y

{b}  Based ori the imonmaiion above, state wow Organism Y and Organism Q benefit
from each other. 21

Benefit for Organism ¥Y:

Benefit for Organism Q:

{Goanto me .t page}
P SCORE '
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30 Kenneth conducted an expariment o find cut the effect of physical activity ort his heart
rate. He measured his heart rafe omediately after doing different number of sit-ups.
His resulis are shown in the table below.

Heart rate {beats per min}

Number of
Trial | SH-ups done [ 4sfyaading | 2 reading | 3 reading | Average
[ w | % | @ | @ g3
2 20 110 _‘?_;115 12¢  F 115
3 48 .. 130 ‘M@ 135 ' 135

]

fa}  Kenneth rested for 20 minutes before starting every trial. Explain why this alfows
him to carry out a fair experiment. [1]

(b State and expl’fai'.’ﬂ; what happens to his heart rate when he does mere situps. (2]

For mare papers, Go to: SeriousfAboutEchool comdOnlineExams



{c}

4
After exercising, Kenneth was swealing. He went info an ale-conditfoned ream to

rest. The temperature of the room was 19 °C. While resting, he observed white
mist forming abave his body.

whiite mist

sweat
——

Explain how the white mist is formed. 2]

{Ga an to the next page)

SCORE
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o

Julian wanted to find out how the cloudiness of river water affects the rate of
photesynthesis in plants. He placed similar water plants and fish into three identical tanks
7, Q and R which confained the same amount of water from different rivers P, Q and R
respectively. The experiment was conducted in a dark room aﬂd a light source was
placed near the tanks as shown belaws, -

' . light sousce

fi\

L

river water
fish
Tank R

{2} Jullan added a fish to each tank. Explain his purpose of adding the fish. 1]

(b}  Julian’s teacher commented that his experiment is not 2 fair test. Explair why (1}
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Julian did some changes to his set-up to make sure it was afair test. He measured
the amownt of oxygen in the waler of each tank and recorded the resulis in the
table below.

. ] Amount of oxygen (unils)
Thme " TankP ]  TankQ |  TamkR
0 hour at start | 5 - 5 ’ 5
1 hour later | 19 ' 13 21
4 hours later | 27 20 36

Based on the results, Julian concluded that river Q was e least cloudy. Da you

agree with his conclusian? Explain your answer. £
(Go on to the next page}
. SCORE |
3
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32 Sarm conducted an experiment to study the foad relationships hetween animals G, R and
8. He placed some plant P and some animals &t and R into a box and counted the
number of animals after each week, After three weeks, he added animat 8 inta the box.
The results are shown in the graph bhelow.

&
: | Q
: ' !
poptlation | 3
sire : 5
h . R
; -
i
i
1
T
a"""ﬂ-‘ ?
7 i
- E
i ; S
[ # waek
O . ?

(@}  Complete the food chain below to show the food relationships between crganisms
B, Q and R, ' F1]

] | N r
: . ) i ;

(b) Complete the table below by writing P, Q. R and S in the table helow. Each
letter can be written more than once, (e

Producer . Counsumer i Prey Predator

{e} [If no other animals are added into the hgx, explain what would heppen to the

poputation of Q after week 7. Tif
{Ga an to the naxt page}
| score |
4 I.
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32 The disgram below shows the fruits of Plant A The Reshy fruits containad smzlt haod
seadls, ,

@} Why do plants repraduns? O

b} A popustion of plant-eafer, X, was bfraduced ko the gardan In waek 4. It
affacted the areg covered by plent A as shown in the graph below. Plant-esfor X
doas nof polfinais the Tewers of plant A

Hren coversdiny W -
plant A () ;;ﬂ;;-mfgtimf;_ piEak eafar X

il

£ #lozercoranan

: peope——es Ti {ranka)

¢ £ z 3 —

: &

G Statsbow the populaion of plenf ¥ ghenges from waek § D wesk &[]

) Based on the information gven, exphain how e prasence of He

. (G am oy Bhey mast pege)
SCORE '

&

For mare papers, Go to: SeriousfAboutEchool comdOnlineExams



g

Bird € lays #s egy in anather Bird W's nast. Bird C's egy locks like Bid W egg.

Bird s egg

“Bird W's eggs

@l  Explaln why @ is henafical for Bid G that s egh loaks ke be egg of Bibd W (1}

(b} Bia s egy natdes first. The young will use its baady fo pushs the other eggs
out of the nest when the adulk bird is qut loaking for foad:

State the type of adaptation. shave and explsin bow & benefifs young of Bird C.
' g

{Bo an tn the next pagal
SCORE

3
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35 Carol placed three solids of the same size but made of different materials A, B and C
into a container of water as shown.

solid
water

tay Fr_om the diagram, state the physical property of balis B and © [1]

{h}  Carol designed a device as shown ta measwre the amount of e tnat passed in
hours. She filled cantainer Z with water. When she rermoved the stopper from the
hales, water flowed from confainer Z to container Y and from container ¥ to

gordainer X,

arrow

2 el
:ﬂzri :I I
mavahble 'mj
stick with E
time marker

watar

Fo— haolas

Caontatrer X Condamer Y Container Z,

{i} Which material, A, B or G, should Carol use to make the stick? Explain
flow the matertal helps the device to measure the amount of ime passed.

@

(i}  Garol observed that the time indicated on the device was tqo fast. State
ane way how she can improve her setup, [t}

(Coanta ﬁhg- next pags}
SCORE | '

| PR
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3% Faur nails, P, Q, R and S, were tested to find out which makes the strongest magnet.

nait

/ o .

bar magnet

Each of the nails was plated against a bar magnet and the number of paper clips which
the nail could atiract was recorded as shown in the fable below. -

| nait

'N'umberofﬁaperd'ips i -, -
atfractedtothemail | < | = 4 : 5

(@@  Other than the type of paper clips and length of the nails used, state one ather -
variable that needs to be kept constant in the set-up. ' i1

{b} Basea on the results of the nvestigation, which nail is the strongest magnet?

Explain your answer. ftl
(Go en to the next page}
| SCORE |
2
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37 Fakim bought a new toy. He could play with it as shown in the diagram below.

ahjact

P
toy
5 } Fosition B
transparent—-— ,
container S, S cross section
, of the toy
} Positfon C ¥

Object P is inside the toy. The'toy Ts able to float at different pasitions A, B and €, by
controlling the circuit that is connected to Q.

Hakim can clase switches, $1, $2, 83, S4, S5 and S8, to control the circuit. This will
change the position which the tay floats.

31
83
o« a It

(a)  In order for the toy to float at Pasition B, switches S1, 84, S5 and S6 have ta be
slosed. Explain how the toy warks to float at Position B. 2]
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{b}  Which switch{es) does Hakim need to close so that Objact P can float at Positions
Acand C7 Make your choice by placing a tick in the appropriate boxes helow. 2]

Pasition Switches to be turned on

st | sz | s3 s¢ | s5 | s8
" .
B v v « v
C

{c}  Using arrows, draw and label the forces acting on the toy when it is floating In the
position as shown. \ {1}

{Go on o the next pags}
| SCORE
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Jack carried out an experiment as shown below. A temperature sensor connacted to a
datalogger was placed in the test tubse in get-up A and the test tube in the middle of sat-
up B as shown below.

Each test tube contained the same volume of cold water at 10 °C.

 datalogger |

t&mgzerafme ~ temparature sensor placed
sens(i ia the middle test tube
<old watter tost tube
at16°C
Set-up & Sebup B

The graph below shews the changes of the fernperatures of the water in the twe. test
tubegs.

L

Temperature of
the water PG} | _
- _ - Tetup A

Set‘UP B

¥ Time (minutes)

{a}  Based on the resulfs, what can Jack conciude about the heat transfer in the test
tube in Set-up B as compared to the fest tube in Set-up A? Explain your
arswer. 23
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{k}  The diagram halow shows aniinals M huddling togsther in the cold, keaping their
young in the middie. . )

Based on the résuits. af Jack's em&nenﬁ explain why it is an advantage for the:

animals to huddie tagether in the cold. = [}
(Go on to the next page)
SCORE '
5 4
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39 The Gravity Light is a project done by some students to provide light to places without
eleciricity. it works by hanging weights which will pull the chain down. The chaip will
power a generatar which will produce electricity that in tum will switch an the bulb.

generaior iz powerad:
by the big wheet

bigrwehesl i spu
_ by the chain,
rape

waight that pulls
dicver the chain

fa}  Fill in the boxes helow to show the erergy eanversion. in the Grawvity Light. ' Rk

enargy of the enargy of the energy of the snargy: of the
hanging waights - falling weights: goterator bty

(b}  Without changing the wheel of the Gravity Light, how cars the person using if
maks the bulb brighter? Explain your answer, 27

{Go an to he next page}
SCORE | ;
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40 James camied out an experiment by using various set-ups. He uses thres types of
springs P, Q and R. Me compressed the spring to a length of d em and placed a marble
of mass m in front of it. When he released the spring, the marble moved up the slope.

James measured the highest height h om reached by the marble.

sloger
eamprassed
spring
The table below shows the resulls obtained by Qary-fm@ the type of spring, distance d
and mass i
Setup | Type of spring | Distance diem) | Mass mig) | Height hicm)
T P 5 | 12 15
2 Q 3 T4 23
3 124 5 14 18
& B 5 10 18 |
I N 8 12 21
& R 5 12 £1id
(&}  Using the table above, state and explain which spring is the stiffest o 2]
- Bt £
{b]  Stale-the felationship between the mass of the marble ard hewrt b [1]
{c} E);plain your answer for (b} in terms of forced [
SCORE g

EBnd, of gager,

A

7
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EXAM PAPER 2023

LEVEL PRIMARY 6
SCHOOL TEMASEK PRIMARY SCHOOL
SUBJECT SCIENCE
TERM PRELIMINARY EXAMINATIONS
Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10
1 2 4 1 3 3 4 1 1 4
Qi Q12 Q13 Q14 Q15 Q16 Q17 Q18 Q19 Q20
3 2 3 4 1 2 2 2 2 4
Q21 Q22 Q23 Q24 Q25 Q26 Q27 Q28
4 3 1 3 1 3 4 2
29 a) An organism is a living thing or something which was living thing.
b) Y gets protection from predators.
c) Q will be protected from its predators as they will be poisoned by Y
30 a) When he rests, his heart rate will slow down to normal rate so he can get more
accurate results.
b) His heart rate will increase. During exercise more energy is needed. Heart needs
to pump blood rich in oxygen and digested food faster.
c) Water from the sweat gains heat from his body and evaporates into water vapour.
The water vapour comes into contact with colder air, loses heat and condenses
into tiny water droplets.
31 a) The fish will provide a direct / source of carbon dioxide for the plant to
photosynthesis.
™ . ‘ ]
b] | Tank Qs directly under the light and gets more light than P and R. |
c) No. Tank Q was the cloudiest. As the amount of oxygen released by the [
plantin Qs the lowest, the least amount of light must have reached the
plant which resulted in the lowest rate of photosynthesis.
Q32 a) P=>Q-—>R
b) Producer Consumer Prey Predator
P ' Q,R,S Q,Ss R, Q
c) Population of Q will decrease, as there is no more S for Q to feed only.
Q33 || a) | Plants reproduce to continue their own kind.
b) (i) The population of Plant A remains the same from week 1 to week 4, but
increases from week 4 to week 6.
(ii) Plant-eater X feeds on the fruits of plant A. When X moves from place,
the seeds are passed out in the droppings and germinate into new plants.
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Q34 || a) Bird C's egg will be cared for by Bird W until it hatches. )
b) Behavioral adaptation. The young will get all the food from the adult with
_ _ no competition.
Q35 a) Sink in water.

b) (i)Material A, as it is able to float in water. As water flows into the
container X, the movable stick moves upward and the arrow points to the
time.

| (i) She could mrake asmaller hole in container Y and Z.
36 a) The magnet
b) S. As S could attract the most paper clips out of the 4
37 a) When he closes S1, S4, S5, S6 the circuit is closed and object Q get turned into
an electromagnet and can repel P. As the light poles are facing each other, they
repel and push upwards.
b)
Position Switches to be turned on
S1 S2 S3 S4 S5 S6
A v 4
B
C v 4 v v
/-I magnetic force of repulsion
< i
/
; gravitational force
c)
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Q38

Test tubebfs:ﬁﬁﬁémz héat slower than the test tube in set-up A. Test
tube set-up B has less exposed surface area, thus will gain heat slower
from the surroundings.

When animals huddle together, their bodies area will be less exposed to
the surroundings, They will lose heat slower to the surroundings, keeping
them warm.

Q39

Gravitational Potential - kinetic - electrical energy - light

The person can add more weights to the set-up as when the heavier the
weight is the more gravitational potential is converted to more kinetic
energy which can be turned into more light energy.

Q40

Spring Qis the stiffest. From Set-up 1, 5 and 6 height reached by the
marble in set-up 5 is the highest. Spring Q has exerted the greatest
amount of elastic spring force on the marble, thus pushing it he furthest.

b)

The larger the mass of the marble the shorter the height.

c)

For a larger mass, the friction between marble and ramp is gﬂl_reater, which
slows down the marble more.
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